N = 0l & At & Ml A

A HIHsS
M MTHE AR
Sl HHEXME HA2Y o HOAAL X (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
AIHS 355,826 243,286 112,540
AlS AFE AL 304,806 181,326 123,480
HESAHEH WHASE L HoAAIL X 238,336 114,536 123,800
FOUTXAMH 2 49,400 49,400 0
201 et A | 12,400 12,400 0
01 AFR2t2l Yl 12,400 12,400 0
OdHE2g Litx==H| 3,400,000 3,400
ORI+ 30,000& x25H x12& 9,000
301 et X = 37,000 37,000 0
09 HALAHI X &= 3,000 3,000 0
OFOUNXSAAE 928 L SLTXCSH Hat
(12al) 100,000& *25H 2,500
OFXNEZz)H 24 500,000& 500
12 JEtE &2 34,000 34,000 0
OZAIE=E 34,000,000& 34,000
FOIHOIAIE K& 167,936 61,136 106,800
201 Bt A | 39,636 39,636 0
01 AP 22l Yl 9,380 9,380 0
OFANRUBHIANAE S99 275,000 128 3,300
OFAN AYFUEZH 2t2|H] 130,000& *123] 1,560
O&=+J ¢ Hld ¢x= 2,600,000& 2,600
O EAH 2=H| 60,000 x 1204 & 720
O3JI&83dI Ldx & 50,000 *2CH x 1201 & 1,200
02 32494l 30,256 30,256 0
OXssXidl(2Ch) 7,000,000 7,000
OFAF gl TAIJIARZ 800,000 1200 & 9,600
O&II&Hl |XEE+Hl 88,000& x12J4 & 1,056
OF A LB AIAE S X228
600,000& *23] 1,200
OF M X &2lY] 6,000,000 6,000
Osd IR Xl 150,000& *123] 1,800
OFAN WAZ HEAHI 3,600,000 3,600
203 &R =&H| 2,300 2,300 0
03 Al F=X AR =AH| 2,300 2,300 0
OIS SHLRAIMFEX 2,300,000& 2,300
401 Al HI L £ 0HHI 126,000 6,000 120,000
01 A& HI 126,000 6,000 120,000
Os A =& 22 6,000,000 6,000
OXNIHsS HLerD| WA (29TH) 110,000, 000& 110,000
o222 A 10,000,000& 10,000
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